EECS1022 Programming for Mobile Computing
(Winter 2021)

Q&A - Lectures W2

Monday, January 25



Are you actually a fan of heavy metal music?

(I ask because you used the ex of heavy music in
when talking about truth tables) (M)




System. out.printTn(f);

| v
double (@)= 1.7976931348623158E+308;

System.out.println(d);
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«(@nary) operator s,

I am wondering what the formal definition of
from my _understanding it is simply an operator
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Does the negation logical operator automatically categorize the
operation its in a compound boolean expression?

g. lisPositive) or !(some relational expression)

Test Inputs:

public class _~£€OmputeArea {
public stati€ ¥oiId maipAString[] args) {

Scanner input = new Scanner (System.in); radius
System.out.println("Enter a radius value:");

double radius = input.nextDouble(); H
final-—doupbIe~RLl = 3.14159; radlus

if (radius < 0) ' {) /+ condition of invalid inputs %/

System.out pzintln("Error: Negative radius value!");
}
else { /x implicit: ! (radius < 0), or radius >= 0 */
double area = radius * radius * PI;

public class ComputeAreal {
public static void main(String[] args) {
Scanner input = new Scanner (System.in);
System.out.println("Enter a radius value:");
double radius = input.nextDouble();
finalsGouble F¥~= 3.14159;

if (radius >= 0))/{ /* condition of valid inputs x/

System.out.println("Area is " + area);
}

input.close();

doublé™awsea== radius = radius * PI;
- l@ System.out.println("Area is " + area);
O = - i
Z else { /# implicit: ! (radius >= 0), or radius < 0 */
4 = L@ }System.out.println("Error: Negative radius value!");
@ input.close();
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